T'rigonometry Lesson #8:
Practice Test

Use the following information to answer the first three questions.

D 15 E
]

The value of cos F' is

A,l—zs
B,%—;
& %
D. 62

The value of x is

. g
B. 17

28
D. 62

Which statement is false?
A. cosE=sinfF
B. sinE = cos F
C. tanE = tan F

sin £
cos F

D. tanF



The value of a is

A. 14tan51°
14
B. tan 51°
C. 14cos5l°
14
D. cos 51°
The value of x, to the nearest tenth of a degree, is
A. 350°
B. 619° 3 mm
(: 723°
D. 293° . N

/2 mm
A guy wire to a pole makes an angle of 71.4° with the level ground and is 13.8 feet
from the pole at ground level. How far above the ground is the guy wire attached to the

pole?

A. 46 feet

B. 131 feet

C. 146 feet

D. 410 feet

The value of length AC, to the nearest tenth, is (.

A. 0.1

B. 2.1 %
e T2 4 300 ] .

D. 75

A man, six feet tall, casts a shadow of 10.6 feet. The angle of elevation of the sun is
A, 30°

B. 34°
C. 56°
D. o60°



10.

Use the following information to answer the next three questions.

The diagram shows how a horse breeder has used fencing to divide a parcel of
land into two triangular paddocks for his horses. Each of the line segments
represents fencing.
" E
e N
55°

G

0.85 km
43°

The length of the fencing represented by DF is

A.

B
C.
D

0.89 km
0.79 km
0.62 km
0.58 km

The value of cos G is

A.
B.
C.
D.

0.68
0.72
0.80

impossible to determine from the given information.

The total area of the two triangular paddocks, to the nearest 0.1 km2, 18

(Record your answer in the numerical response box from left to right) L j




11. The length of AC, to the nearest metre, is B

A. 54 m
B. 70m
C. 8m 37m
D. 103m
577 -
A D

NUlaetean 2.  Determine the area of the following triangle to the nearest square centimetre.
Response

(Record your answer in the numerical response box from left to right) ’

' f

39 ¢m

X 57 cm

12. A ABC is isosceles with AB = CB. The area of the triangle is 30 cm?
and AC = 12 cm. The measure of ZABC, to the nearest degree, is

A, 100°
B. 50°
C. 45
D. 23°



G F

3. In the diagram, DEFG is a square of side 12 cm and GH = 15 cm.
oy To the nearest degree, the difference between the measures
of LHGF and ZHDE 1is .

(Record your answer in the numerical response box from left to right)

NTSTE4. ABCDE is a square based pyramid with vertical height 14 cm.
K 1s the midpoint of CD and angle AKL =70°.

To the nearest degree, the measure of angle ACK is

Response

(Record your answer in the numerical response box from left to right)

13. From a lighthouse window 30.0 m above sea
level, the angles of depression of two buoys
which are in a direct line from the lighthouse are
15° and 26° respectively.

To the nearest tenth of a metre, the distance
between the buoys is

A. 1735
B. 1655
C. 505
D. 244



Multiple

Chotes

14. From the diagram, the length of CD is

. csinx® +d cos x°
ccosx® +dsinx°
. (¢ +d)cosx°

. (c+d)sinx°

Dawe

Use the following diagram to answer the next two questions.

L

M N P

15. The length of LP, to the nearest centimetre, is

A. 5lcm
B. 54cm
C. 74cm
D. 76 cm

The length of MN, to the nearest centimetre, is

Response

(Record your answer in the numerical response box from left to ri ght)




| Written Response - 5 marks

1. Inthe diagram PQ =16 m, OR=12m, and PT =TR.

o Make a sketch of triangle PQR only and determine
the exact length of PR.

e Explain why you cannot use only triangle QRT to determine the measure of ZQRT.

Calculate the measure of ZQPR and use it to determine the measure of ZQORT
to the nearest degree.

e Calculate the length of PT to the nearest tenth of a metre.



«OLT 1] =G 1]

Written Response
1.+ 20m .
* In triangle QRT, only two pieces of information are given, Z7TQR and side OR.
This is not enough information to calculate 2 QRT.
° LOPR =37°, LORT = 16°.
e 12.5 metres.




Tr igonometry Lesson #8:
Practice Test

Use the following information to answer the first three questions.

D 15 E
: x?
8 1.7
F
1. The value of cos F is
R | | cosfF:ady 3
- 15 H
: e
17
17
C: e
D. 62
2. 'Thevalueofxis o . ..g-,
Sin X i1
15
A, — 5 -
17 st = 1%
B 5
17
@ =
D. 62
3. Which statement is false?
15 )
A. cosE=sinF v CosE = l—‘-l S\nl"':ﬁ
: ]
B. sinE = cosF sin E 3 .‘}_,' oy F =
= . 1S
@ tan £ = tan F toa E ° ‘% }aa F : =
sin F
D. tanF = - IS smf S g
cos F .hnf-'.-i. Sl — .22
os F 8/ ¥



4. The value of a is

(7}
14311510 +nﬂ5\°= ‘_;

B s a: I4+ens1°
C. 14cos5l1°

14
I cos 51°

5.  The value of x, to the nearest tenth of a degree, is
« S50 cosx = 2
3
. 61.9° 3 mm
x = 61.94°
e 2
D. 293° * ]

/2 mm

6. A guy wire to a pole makes an angle of 71.4° with the level ground and is 13.8 feet
from the pole at ground level. How far above the ground is the guy wire attached to the

pole? b

A. 46 fect  Tan L 7 3o |
B. 13.1 feet o= 13.3 ‘l'dn'-“-l-: h
C. 146 feet ¥ LLD 1”: |
410 feet 15.9 £} '
7.  The value of length AC, to the nearest tenth, is @
A. 01 on 32°° L
C
B. 2.1 A R
pe: 2
12 tin 3d 327 []
A B

‘. 75 2 TSl

A man, six feet tall, casts a shadow of 10.6 feet. The angle of elevation of the sun 1s

b
(=] e . m——
30°  dan x © G
B. 34 . . %
)(e = JQ-SI--- %o
L. oo 0.6
D. 60°



Use the following information to answer the next three questions.

The diagram shows how a horse breeder has used fencing to divide a parcel of
land into two triangular paddocks for his horses. Each of the line segments
represents fencing.
FE
] “
35°
0.85 km
43°
-
B F
9.  The length of the fencing represented by DF is
®
. 0.89 km Cshso- EF EF:D-QSCDSha = @, 6d .-
0.85
0.79 km of 0
0 . ML z 0.6a... 58 .
C. 062km tan 55 OF « 0:63.. YeaS5 » 0.39
0.62...
D. 058km
10. The value of cos G is LEGF: 180 -90°-43° ¢ 1,7°
0.68
. cos L1° = 0.6%..
0.72
C. 0.80

D. impossible to determine from the given information.

1.  The total area of the two triangular paddocks, to the nearest 0.1 km?, is

{(Record your answer in the numerical response box from left to right) 0. 5
Sin 1,3',: .E.E, EG* 0.85 sin k3° : 0.579...
0.%5

Fotal acea ¢ 3 (DF)(EF) %(EF) kﬂ
=L (0.39)(0.63) ¢ 3(0-62)(0-58)

A

0.L55... ke



11. The length of AC, to the nearest metre, is

A. 54m
70 m
. 87m -
D. 103 m
r | 39°
Fen §7% 21 R R
AD
£l 37,
e T MR g e, A LS 6Y...
AQ +51\51e ah Dz DC. +‘“3q.
RC: AD +DC - AL L. * L5 . 6% : 9.7 ... = 70 m

Niesteall 2.  Determine the area of the following triangle to the nearest square centimetre.

Response
(Record your answer in the numerical response box from left to right) 3 (, 1
. A
sinla’ =
) 39 Y
® = 39 cm
bt 39 5al8° 2 12,647 .
19°
|
Af!ﬂ : = bk X 57 cm
. 1 11.697...
. L (s)(12.447-)
= 361.3¢69...
T3 em

12. A ABC isisosceles with AB = CB. The area of the triangle is 30 cm?
and AC = 12 cm. The measure of ZABC, to the nearest degree, is

1000 Acea: 3 b

B. 530° : 1 k\

C. 45° 30 3 (2)(

D. 23° 30 = bh T "
N - 5 em ldem

o
Lpge = 2(50.19..5) = 100.38...



F
TRl 3.  In the diagram, DEFG is a square of side 12 ¢cm and GH = 15 cm. x®
Response To the nearest degree, the difference between the measures q
of LHGF and ZHDE is . ‘ IS
Fu*=15%12% = 1 .
- = !'
FH: V§ 9 cm D Ty o
BE *12-9: 3em Fen ? s 3
any
v % J i Difference x-y
Slax” *= — ¥ °
15 421403 JETE (A (' LT
@
x": 36.96... * 114 =4

(Record your answer in the numerical response box from left to right)

ABCDE is a square based pyramid with vertical height 14 c¢m.
K 1s the midpoint of CD and angle AKL = 70°.

A To the nearest degree, the measure of angle ACK is

Numerical B3
Response

+ n1°° ® .lE : —-I&- s g, i
Y ° p 4 aan10® 5-095..
““.I 7 °. 1&. . . ‘ ?
b ’ $ia10 3 Y —— IL,.843...
%<
=Lk AP e C - Ihy-398 ...
" 5.095...
Y LACK =T
E x_p|K - ¥

(Record your answer in the numerical response box from left to right)

13.  From a lighthouse window 30.0 m above sea
level, the angles of depression of two buoys
which are in a direct line from the lighthouse are
15° and 26° respectively.

To the nearest tenth of a metre, the distance
between the buoys is

°. 30 °: 30
1735 tealS ac  Tanlb =

30.0m

A.
B. 1655 30 20
@ s Rt e 8O T AC-8C
. 244 3
' 1.96...  ° 61.50... ]

= L., = {l1.50...
S0.LS...



(Clieiesll 14. From the diagram, the length of CD is A,

csinx°+dcosx°

B. ¢ cos x° +dsin x°
C. (c+d)cos x°
D. (¢ +d)sinx°

o ED C
°: CE Cos % = —
S -
" < d (D= CE+ED
CE: Chax® €0 : dcosx’ 2 cinn’+ d wsx®

Use the following diagram to answer the next two questions.

L

M N P

15. The length of LP, to the nearest centirmetre, is

A. 51cm Cos S5L° 3 l_':f
.54cm Q2

C. 74cm LP = A2 cos Sk
D. 76 cm

s 5Lo07..¢m

AUNESANS.  The length of MN, to the nearest centimetre, is
Response

(Record your answer in the numerical response box from left to right) l 3 }8 ‘
Sin 51,7 MP o3l : NP NP
92 P sL00. . M MP- NP
MP: G 5ia5L° NPt Sk0h. Fag3b’ WUl = 36.47...

I VR R = 36.L7.., *37.95... *3%m



Written Response - 5 marks

1. Inthe diagram PQ =16 m, QR =12m, and PT = TR. Q

e Make a sketch of triangle POR only and determine
the exact length of PR. '

> pR*s (' +12* = Lo00

12 |
p L& g PP VLo 10 m

* Explain why you cannot use only triangle QRT to determine the measure of ZORT.
In & QRT, only two pieces of 1adormation ace gwen > LTRR
and 51de QR. This 13 net enusk iafocmatien 4o celcwlete LORT.

* Calculate the measure of ZQPR and use it to determine the measure of LQORT
to the nearest degree.

1

fany”® T PT=TR s0 A PTR 13 isosceles .
x's 3086 LTRP = & TPR = 31
L @R :31°
¢ QRP=180-90" -37° CGRT : L@RP -4 TRP
: 53° . 53°-37°

e

* Calculate the length of PT to the nearest tenth of a metre.

cos |2 = 1
™ PT * TR 12.5m
TR < A2 -
o3 1b°

2 12.5m



Written Response
1. = 20m
* In triangle QRT, only two pieces of information are given, £TQR and side OR.
This is not enough information to calculate LQRT.
°© LOPR=37°, ZORT = 16°.
* 12.5 metres.

’



